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R3.3.17] 8 |EEBE (FHA > - MR - HEFR) 2,510,090 95| 2. 384,585 0 0 0{ 2, 384,585 0 0 0 0 0 0
RL3.1I[ 9 |REiRs (HrRAHTA) 90,420| 95 85, 899 0 0 0 85, 899 0 0 0 0 0 0
R3L.3.I7{ 10 |iRHPEETE (1 H~3 A5 50,050f 100 50, 056 0 0 0 50, 050 0 0 0 0 0 ]
RLA.TE 11 I 2REFSETHRILEEEE (1 A4 88,000 100 88, 000 88, 000 0 o 0 ¢ 0 0 0 0 0
Ra.3.22| 12 ﬁ??fﬂ(""j*_?’x*""v% .37 to0f 41,317 0 0 ¢ 0 ¢ 0 0 of 4317 0
RL3.23| 13 |ERAEHM (8AM 4,097 100 4,037 0 0 0 0 0 0 4,037 0 0 0
R3.3.26| 14 |EESEEEM (3 A4 4,400 100 4, 400} 0 0 0 0 0 0 4, 400 0 0 0
R3.8.26) 15 |(SHETER (3 A4) 4,037| 100 4,037 0 0 0 0 0 0 4,037 0 0 ol
R3.3.28] 18 WiMAX (3A) 3,973 50 1,988] 0 0 0 0 0 0 0 0 1,986 ul
R3.3.20 17 |7RLI(AE—RE - AT voDY) 4,567| 100 4,567 0 0 0 0 0 0 0 0 4,567 0
R3.3.20| 18 |H#B%RA (3 A4 4,900) 100 4,900] 0 0 0 0 0 0 4,900 0 0 0
R3.3.28| 19 |#MIF%HE (3 A 4,037 100 4,037 0 0 0 \ 0 0 0 4,037 0 0 0
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[RERMSU -5 CREMSMER]

{(FFI3LEIH D) [&iRERSR]
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HiRE RaE HREE (ELOMR)
#AE |mEm RNERE - 5 WA | xmm LiEus
BE A H BMASE
(%) mEEER | wen &l | GHERER EE | REHERE | HEBAR | BEWR THER py:2
R2.4.16 B AR (AR ~B6 4 2,100, 600 0 0 0 0 0 0 0 0 0 0
R2.7.16 BFSEE N (TR ~084) 1, 365, 000 0 0 0 0 0 0 0 0 0 0
R2.10.16 HRIEEHEEF(10A~1284) 1,365, GO0 0 0 i 0 0 0 0 0 0 0
R3.1.15 BREDBRTHA~IBM 1,365, 000 0 0 ¢ 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
3g 5.195,000| 2, 840, 569 2,706.569] 88,000 o 0| 2,520,534 0 0 40, 915 0 57,120
2t 6,195,000 5, 877. 288 5,718, 401] 1,699, 602 o 0| 2.670, 684 0f 165.220] 665, 366 o[ 517,529




